	TABLE NO.1

	SEL LIMIT ORDER
	1.7 LOT SIZE INCREMENT TO EACH ORDER
	BUY LIMIT ORDER

	SELL LIMIT (S-L) ORDER
	OPEN PRICE 20 PIPS INTERVAL
	TAKE PROFIT (TP) @ 35 PIPS
	
	OPEN PRICE 20 PIPS INTERVAL
	BUY LIMIT (B-L) ORDER
	TAKE PROFIT (TP) @ 35 PIPS

	1ST ORDER
	130.000
	129.650
	0.1
	130.000
	1st ORDER
	130.350

	S-L1
	130.200
	129.850
	0.17
	129.800
	B-L1
	130.150

	S-L2
	130.400
	130.050
	0.29
	129.600
	B-L2
	129.950

	S-L3
	130.600
	130.250
	0.49
	129.400
	B-L3
	129.750

	S-L4
	130.800
	130.450
	0.84
	129.200
	B-L4
	129.550

	S-L5
	131.000
	130.650
	1.42
	128.000
	B-L5
	129.350

	S-L6
	131.200
	130.850
	2.41
	128.800
	B-L6
	129.150

	S-L7
	131.400
	131.050
	4.1
	128.600
	B-L7
	128.950

	S-L8
	131.600
	131.250
	6.98
	128.400
	B-L8
	128.750

	
	
	
	
	
	
	

	
	 
	
	
	 



REFERRENCE VALUE HAS SET AS PER ABOVE TABLE AS AN EXAMPLE.

	ALGORITHM

	EA STARTS

	PART A: OPENS SELL
	PART B: OPENS BUY

	STEP 1: OPEN SELL 1ST ORDER WITH 0.1 LOT SIZE 
EG. OPEN SELL @ 130.00 WITH 0.1

	STEP 1: OPEN BUY 1ST ORDER WITH 0.1 LOT SIZE 
EG. OPEN BUY @ 130.00 WITH 0.1


	STEP 2: SET SELL TAKE PROFIT AT 35 PIPS
EG. SELL TP @ 35 PIPS IS 129.650

	STEP 2: SET BUY TAKE PROFIT AT 35 PIPS
EG. BUY TP @ 35 PIPS IS 130.350


	STEP 3: SET 8 SELL LIMIT ORDERS (S-L1 TO S-L8) WITH 20 PIPS INTERVAL & 1.7 TIMES LOT INCREMENT. REF TABLE NO.1

EG. SELL LIMIT 1 @ 130.200 WITH 0.17/ S-L2 @ 130.400 WITH 0.29/…/ S-L8 @ 131.600 WITH 6.98, (AS PER TABLE NO.1)

	STEP 3: SET 8 BUY LIMIT ORDERS (B-L1 TO B-L8) WITH 20 PIPS INTERVAL & 1.7 TIMES LOT INCREMENT. REF TABLE NO.1

EG. BUY LIMIT 1 @ 129.800 WITH 0.17/ B-L2 @ 129.600 WITH 0.29/…/ B-L8 @ 128.400 WITH 
6.98, (AS PER TABLE NO.1)


	STEP 4A: IF SELL 1ST ORDER HITS TP, THEN GO TO STEP 1 & REPEAT STEP 2 & STEP 3.

EG. SELL 1ST ORDER HITS TP @ 129.650, OPEN SELL 1ST ORDER @ 129.650 
STEP 4B:  IF NOT HITS TP THEN, OPEN S-L ORDER (S-L1 TO S-L8) AS PER STEP 3 & SHIFT  TP  T0 35 PIPS FROM LAST TRIGGERED S-L,(THE LAST TRIGGERED TP APPLIES TO ALL OPENED S-L) THIS 
SHOULD HAPPEN TILL S-L8.

EG. IF S-L6 IS TRIGGRED @ 131.200, TP OF ALL 7 SELL ORDERS SHOULD BE SHIFTED TO 35 POINTS FROM 131.200 i.e 130.850 (REF TABLE NO.1).

	STEP 4A: IF BUY 1ST ORDER HITS TP, THEN GO TO STEP 1 & REPEAT STEP 2 & STEP 3.

EG. BUY 1ST ORDER HITS TP @ 130.350, OPEN BUY 1ST ORDER @ 130.350 
STEP 4B:  IF NOT HITS TP THEN, OPEN B-L ORDER (B-L1 TO B-L8) AS PER STEP 3 & SHIFT  TP  T0 35 PIPS FROM LAST TRIGGERED B-L,(THE LAST TRIGGERED TP APPLIES TO ALL OPENED B-L) THIS 
SHOULD HAPPEN TILL B-L8.

EG. IF B-L6 IS TRIGGRED @ 128.800, TP OF ALL 7 BUY ORDERS SHOULD BE SHIFTED TO 35 POINTS FROM 128.800 i.e 129.150 (REF TABLE NO.1).


	STEP 5A: IF TRIGGERED SELL ORDERS HITS TP, THEN CLOSE ALL PENDING SELL LIMIT ORDERS & GO TO STEP 1 & REPEAT.

EG. IF S-L6 AT 131.200 IS TRIGGRED AND TP @ 130.850 (TP FOR 7 SELLS) IS HIT, ALL EXISTING 
(PENDING) SELL LIMIT ORDER SHOULD BE CLOSED  (S-L7 TO S-L8) AND GO TO STEP 1
	STEP 5A: IF TRIGGERED BUY ORDERS HITS TP, THEN CLOSE ALL PENDING BUY LIMIT ORDERS & GO TO STEP 1 & REPEAT.

EG. IF B-L6 AT 128.800 IS TRIGGRED AND TP @ 129.150 (TP FOR 7 SELLS) IS HIT, ALL EXISTING 
(PENDING) BUY LIMIT ORDER SHOULD BE CLOSED  (B-L7 TO B-L8) AND GO TO STEP 1

	STEP 5B: IF TRIGGERED SELL LIMIT ORDER TP DOES NOT HIT;
THEN TRIGGERS S-L8, & SET S/L OF ALL 9 SELL TRADES AT 20 POINTS FROM S-L8 ( CALLED S/L INTREVAL FROM LIMIT ORDER 8)

EG. OPEN S-L8 @ 131.600 WITH 6.98 LOT SIZE & SET S/L OF ALL SELL TRADES AT 131.80

	STEP 5B: IF TRIGGERED BUY LIMIT ORDER TP DOES NOT HIT;
THEN TRIGGERS B-L8 & SET S/L OF ALL 9 BUY TRADES AT 20 POINTS FROM B-L9 ( CALLED S/L INTREVAL FROM LIMIT ORDER 8) 

EG. OPEN B-L8 @ 128.400 WITH 6.98 LOT SIZE & SET S/L OF ALL BUY TRADES AT 128.20


	STEP 6: IF S/L OR T/P HITS GO TO STEP 1 & REPEAT
	STEP 6: IF S/L OR T/P HITS GO TO STEP 1 & REPEAT



KEY NOTE:
1. EA SHOULD HAVE THE FOLLOWING INPUT PARAMETERS
a. STARTING LOT SIZE
b. LOT INCREMENT
c. LIMIT ORDER INTREVAL
d. T/P FROM LAST TRIGGRED LIMIT ORDER
e. S/L INTREVAL FROM LIMIT ORDER 8
2. EA SHOULD HIDE PENDING ORDERS IN HISTORY

